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Formatted - SSC CGL Reasoning. Quiz Advance Level (Questions)

Q1. In the following question, select the related word pair from the given alternatives.

(a) Track: Train
(b) Truck : Road
(c) Land : Lion

(d) Road : Cycle

Q2. In the following question, select the related number pair from the given alternatives.
45:60::7:?

(2) 25:30

(b) 65:90

(c)35:45

(d)55:70

Q3. In the following question, select the related letter pair from the given alternatives.
MCG:NDH::?:?

(a) I0T : JPU

(b) JMP : LOR

(c) RTP: SUR

(d) FPL : GQN

Q4. In the following question, select the odd word from the given alternatives.
(a) Rain

(b) Steam

(c) Ice

(d) Evaporation

Q5. In the following question, four number pairs are given. The number on left side of (-) is
related to the number on the right side of (-) with some Logic/Rule/Relation. Three are similar on
basis of same Logic/Rule /Relation. Select the odd one out from the given alternatives.

(a) 29 - 34
(b)32-37 12 Months Subscription
(c)34-39

(d) 24 - 28 A

Q6. In the following question, select the related word pair from the
given alternatives.

SSC PREMIUM

Useful for CGL | CHSL | CPO & Others

(a) Car: Truck

(b) Table : Window 900+ TESTS

(c) Clay : Statue
(d) Wood : Plastic
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Q7. In the following question, select the related number from the given alternatives.
41:4::37:?

(a) 34

(b) 21

(c) 22

(d) 16

Q8. In the following question, select the related letter/letters from the given alternatives.
AMC: COE:: RAX:?

(a) MKZ

(b) TCZ

(c) ECB

(d) FBT

Q9. In the following question, select the odd word from the given alternatives.
(a) Teacher

(b) Justice

(c) Lawyer

(d) Chef

Q10. In the following question, four number pairs are given. The number on left side of (-) is
related to the number of the right side of (-) with some Logic/Rule/Relation. Three are similar on
basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives.

(@)11-121

(b) 12 - 144
(c) 15 - 225
(d)13-171

Q11. In the following question, select the odd letter/letters from the given alternatives.
(a) MSY

(b) KQW

(c) RXC

(d) DJP

Q12. Arrange the given words in the sequence in which they occur in the dictionary.
1. Seaman

2. Scruples

3. Script

4. Second

5. Seat

(a) 32154

(b) 45321

(c) 12345

(d) 25341
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Q13. In the following question, select the missing number from the given series.
1728, 864, 432, 216, ?

(a) 54

(b) 108

(c) 116

(d) 200

Q14. A series is given with one term missing. Select the correct alternative from the given ones
that will complete the series.

GLP, HNR, IPT, JRV, ?

(a) KUYy

(b) KWA

(c) KTX

(d) LVZ

Q15. Aman is 4 years older to Bimal. Bimal is 2 years younger to Chaman. Chaman is 6 years older
to Dhruv. Dhruv is 9 years younger to Esha. Who is the second eldest?

(a) Aman

(b) Bimal

(c) Chaman

(d) Dhruv

Q16. From the given alternatives, select the word which CANNOT be formed using the letters of
the given word.

Apparent

(a) Pear

(b) Pent

(c) Rent

(d) Relevent

Q17.In a certain code language, “MONEY” is written as “ZDONN". How is “RATED” written in that
code language?

(a) FBVYE

(b) EZSDW

(c) EDUZS

(d) WVMKB R
6 Months Subscription

Q18. In a certain code language, '-' represents '+', '+' represents 'x', A

'x' represents '+' and '+’ represents '-'. Find out the answer to the
following question.

3+12-40+5x20=7? SSC PREM'UM

(a) 42 Useful for CGL | CHSL | CPO & Others
(b)1

(c) 45 900+ TESTS
(d) 30
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Q19. The following equation is incorrect. Which two signs should be interchanged to correct the
equation?

40+8x5+15-2=30

(a) + and -

(b) +and +

(c)-and +

(d) xand -

Q20.1f8a9 =-72,-9a3 = 27 and -6al = 6, then find the value of -3a6 =?
(a) -98

(b) -87

(c)18

(d) 29

Q21. Which of the following terms follows the trend of the given list?
XXXXXXY, XXXXXYY, XXXXYYY, XXXYYYY, XXYYYYY,

(a) XXXXXXX

(b) XXXXXXY

(c) XYYYYYY

(d) XXXXXYY

Q22. A school bus travels 5 km West, then turns South and travels 7 km, then turns East and
travels 5 km, then turns to its left and travels 2 km. Where is it now with respect to the starting
position?

(a) 5 km South

(b) 9 km South

(c) 5 km North

(d) 9 km North

Q23. In the question two statements are given, followed by two conclusions, I and II. You have to
consider the statements to be true even if it seems to be at variance from commonly known facts.
You have to decide which of the given conclusions, if any, follows from the given statements.
Statement I: All cards are labels

Statement II: No posters are labels

Conclusion I: No cards are posters

Conclusion II: Some posters are cards

(a) Only conclusion I follows

(b) Only conclusion II follows

(c) Both conclusions I and II follow

(d) Neither conclusion I nor conclusion II follows
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TEST SERIES
Q24. In the following figure, rectangle represents Web designers, Bilingual

circle represents Bloggers, triangle represents Photographers and
square represents Cricketers. Which set of letters represents Web

designers who are Cricketers? S S c c G L 2 0 1 9

TOPIC WISE

60 Practice Mocks

Validity : 6 Months

(a) BH
(b) IB
(c) AG
(d) EA

Q25. A series is given with one term missing. Select the correct alternative from the given ones
that will complete the series.

HRA, GQZ, FPY, EOX, ?

(a) DNW

(b) EMX

(c) EOY

(d) CMV
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